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8:45 5000m  (M4&,W4) 36, 1=37 1
9:00 FadLix  |BFE(M65-85)W4r 19,7=26 1
9:00 |AEMEBE B (M60-85) W4z 27,9=36 1
9:00 |V CH(WA) 10 1
9:15  100m M24,M25 3,4=T7 1
M30 5,5=10 2
M35 18 3
M40 23 3
9:35 M45 33 5
M50 32 4 9:45 |HeEBk  M& 18 1
M55 34 5 9:45 |0 AR (M30-55) 22 1
10:00 M60 16 2
M65 10 2
M70 14 2
M75 5 1
M80 6 1
M85 4 1
10:20 W24,25,35,40  |1,1,2,4=8 1
W45 8 1
W50,55 4,3=7 1
W60,70 5,2=7 1 10:35 EMEBE  |AFH(M30-55) 42 1
W75,80,85 3,2,1=6 1
10:35 |1500m  M24,25,30,35,40,451,1,2,2,5,8=19 1
M50,55 12,7=19 1
M60,65,70 5,8,4=17 1 11:00 <°v#e | B#E(M60-90) 19 1
M75,80 W4 |3,3,5=11 1 11:00  faHfE | AL (M40-60) 24 1
11:05 |400m M30,35 6,2=8 1
M40 6 1
M45 11 2
M50 11 2
M55 11 2
M60 4 1
11:45 M65 6 1
M70 8 1
M75,80 2,1=3 1
W40,45,50 2,1,4=7 1 12:00 ME# | BHE(M65-90) 23 1
W55,80 4,2=6 1 12:00 |E@pk AR (M25-60) 24 1
12:10 13000m M60,65,70 4,11,10=25 1
M75,80,85 W4 5.3,1,2=11 1
12:50 (7725 L—M30, 35, 45, 50R '8,4,8,4=24(6F7—4 1
75 2R WL— M55, 70, W45, 6014,8,4,4=20(5F—A |
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13:00 |3000mW M25,40,45,50,55,60 |1,3,1,7,3,4=19 1 13:00 | =B%Bk BHL(M60-85)W4 22,3=25 1
13:00 P AR (M30-60) |27 1
13:30 60m M60 13 2
M65 9 2
M70 10 2
M75 3 1
M80 7 1
M85 4 1
W50 7 1
W55,60 3,3=6 1
W65,70,75,85  12,1,2,2=7 1
13:50 3000mW  M65,70,75,80 W4 4,2,3,3,4=16 1
14:20 110mH  M30,35 4,2=6 1
M40,45 2,5=7 1
14:30 100mH M50 5 1 14:30 FAE#  CHL(W4) 11 1
M55 7 1 14:30 =Bk AR (M30-55) 22 1
W35 1 1 14:30 EEBk BHL(M65-80) W4 11,8=19 1
M60 3 1
M65 6 1
14:55 80mH W40,45 1,2=3 1
M70,75 3,1=4 1
W50 1 1
M80 3 1
W60,65,70 1,1,1=3 1
15:20 200m M24,25 3,2=5 1
M30 11 2 15:30 A—/L$f AR (M24-55) 29 1
M35 11 2 BH#HL(M60-90) W4 17,12=29 1
M40 5 1
M45 15 2
M50 20 3
15:50 M55 21 3
M60 10 2
M65 6 1
M70 9 2
M75 5 1
M80,85 6,1=7 1
W25,40,45,50  1,2,3,1=7 1
W55,60,70,80  3,1,1,1=6 1
16:20 800m M24+30 1.4=5 1
M35 4 1
M40 6 1
M45 9 2
M50 18 3
M55 14 2
M60,65 2,4=6 1
M70,75,80,85  3,1,2,1=7 1
W35,45,50 1,1,5=7 1
W55,60 3,1=4 1
17:30 Fi#




